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Orange G

6 x12
2 4 7 11 16 __
638 +?2 =1222

Martha says more than half of this diagram is shaded.
Is she correct?
Explain your answer

Teri wants to work out 37 x 19. She says 40 x 20 will give a good
approximation, is she right? Will it be oo big or small?

John gets an allowance each week. He saves it all.
After 9 weeks he has £63.
How much does he get each week?

£3.96 - What is the value of the digit 6?

Copy and complete the fraction and percentage facts.
25%, 50%, 75%, 100%
One whole = __ %
OneHalf = _ %
One Quarter=__ %
Three Quarters = __ %



